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PART A

FOR EACH OF THE FOLLOWING QUESTIONS IN PART A, ENTER THE MOST APPROPRIATE RESPONSE ON
THE OMR SHEET.
W= (Feos8)d

Al.

A3,

Ad.

AS.

A6.

A7.

A8.

Which one of the following expressions gives the correct SI units for work? kﬁ m
(A) kgms™ kgm’s?  (C) kgm's? (D) kgm’s' (E) kgms™ ( v ) .m

A baseball is thrown straight up. It is released at a height 4 above the ground. It reaches a height
H above the ground before falling back down to be caught when it is again at height 4 above the
ground. Itis caught at time 7 after it was thrown. What is the magnitude of the baseball’s
average velocity during the time interval 77 d ,'Sflmmem;l' =0

0 ® 2 © 2 o EB b

A stone of mass m thrown straight up with an initial speed vy reaches a maximum height 7. A
second stone with mass 2m is thrown straight up with an initial speed 2uy. Air resistance is

negligible. What is the maximum height reached by the second stone? 2= gl Zaby
2 2

@ 2 ®) h © 2k ©) 2 @ by=-% %
2a " 24

A baseball is thrown by the centre-fielder (from shoulder level) to home plate where it is caught
(at an equal shoulder level) by the catcher. If air resistance is negligible, which statement is
correct concerning the speed of the ball during its flight?

(A) Tts speed is greatest at the highest point in its flight.
(B) Its speed is constant throughout its flight.
(C) Its speed is a minimum just after it leaves the fielder’s hand and just before it is caught.
(D) Its speed is zero at the highest point in its flight.
Its speed is a maximum just after it leaves the fielder’s hand and just before it is caught.

Which one of the following statements regarding momentum is FALSE?

(A) Momentum has both magnitude and direction. = _ m'G

The magnitude of momentum is the product of mass and acceleration. P
(C) Momentum is in the same direction as velocity.
(D) Momentum is conserved during an inelastic collision.
(E) Momentum is conserved during an elastic collision.

As a car skids with its wheels locked trying to stop on a road covered with ice and snow, the
force of friction between the icy road and the tires will usually be '? &
; . P usv
(A) greater than the normal force of the road times the coefficient of static friction. k 4
(B) greater than the normal force of the road times the coefficient of kinetic friction. & {_’ “‘a’: n
less than the normal force of the road times the coefficient of static friction. S s

(D) less than the normal force of the road times the coefficient of kinetic friction.
(E) equal to the normal force of the road times the coefficient of static friction.

Three projectiles of different masses are launched at different angles of elevation from the top of
a building. Each projectile has the same initial kinetic energy. Which projectile has the greatest

speed just as it impacts with the ground?
. . KE. same A)’ same,
(A) The one launched at the highest angle of elevation. < )

(B) The one launched at the lowest angle of elevation. kE_F same
(C) The one with the highest mass.

@ The one with the lowest mass. KE = Long?

(E) They all will have the same speed on impact. ¢ 2°F

Two particles collide, one of them initially being at rest. If there are no external forces acting on
the particles, is it possible for both particles to be at rest after the collision?

- -
(A) If the collision is perfectly inelastic, then this happens. FH‘. = Ph‘t‘z
(B) If the collision is elastic, then this happens.
(C) This can happen sometimes if the more massive particle was at rest. Pk"" #0 so
D) This can happen sometimes if the less massive particle was at rest. N ¢
This is not possible. P‘k’*# # 0.

continued on page 3...
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A9,

Al0.

All.

Al2.

Al3.

Ald4.

AlS.

Two dimes are placed on a vinyl record that is rotating. Dime one is 5 cm from the axis of
rotation and dime two is 10 cm from the axis of rotation. Which one of the following statements
best describes the angular speeds of the dimes?

(A) The angular speed of dime one is twice the angular speed of dime two. W is He
(B) The angular speed of dime two is twice the angular speed of dime one. Same
The angular speed of dime one is the same as the angular speed of dime two. % hout @
(D) The angular speed of dime one is four times the angular speed of dime two. revg
(E) The angular speed of dime two is four times the angular speed of dime one. e Td ob J'Gd'

An object moving in a circular path at a constant speed has an acceleration that is C-H«e recor 4)

@ directed towards the centre of the circular path.
(B) directed away from the centre of the circular path.
(C) directed opposite to the direction of motion.

(D) in the direction of motion.

(E) zero.

A ball attached to a string is being swung in a vertical circular trajectory at a constant speed.
Which one of the following statements concerning the tension in the string is correct?

(A) The tension is largest at the highest point of the circular trajectory. S E = M Zc

The tension is largest at the lowest point of the circular trajectory. r 2

(C) The tension is largest when the ball is moving upward. At botom T-eng=

(D) The tension is largest when the ball is moving downward. r
.. : . 2

(E) The tension is the same throughout the ball’s motion. T = tp?g_r + tog

The radius of the Earth is about 6400 km and the International Space Station (ISS) orbits the
Earth in a nearly-circular orbit at a height of about 400 km above the Earth’s surface. Compare
the gravitational force of the Earth on an astronaut when she is orbiting in the ISS to her weight
on the Earth’s surface. The gravitational force of the Earth on her when she is orbiting is

(A) larger than her weight on the Earth’s surface.

(B) exactly the same as her weight on the Earth’s surface. F 2 G’ MEM G'ME m
somewhat smaller than her weight on the Earth’s surface. grov 2 = )%

(D) nearly zero. (E£+ )

(E) exactly zero.

A charged insulator and an uncharged conductor are near each other but not touching. Which
statement is correct? pesuladet ~ Condw

(A) There are no electrostatic forces on either of the objects.

There is a force of attraction on each object toward the other object.

(C) There is a force of attraction on the conductor toward the insulator but no force on the
insulator.

(D) There is a force of attraction on the insulator toward the conductor but no force on the
conductor.

(E) Whether there is a force of attraction or repulsion between the objects depends on the sign
of the charge on the insulator.

At a point A, which is a distance d away from a positive charge +Q, the electric potential is V/
(assuming the electric potential at an infinite distance away is zero). If now a second positive
charge +Q is placed halfway between the first charge and the point A, what is the new electric
potential at point A? \J = 5
(A) 2V (B) 242V © 3 (D) 4V ® 57, . ko, kQ
vew y)
It takes 10 Joules of energy to move an object, with 2.0 Coulombs of charge on it, from point A Y, z
to point B. Assuming the object is at rest in its initial and final positions, there are no frictional _ 3
forces acting during the move, and there is no change in gravitational potential energy between
points A and B, what is the magnitude of the potential difference between points A and B?

(A) 20V (B) 0.20 V (©) 10V @) so0v (E) zero
ey 48 - Ll 2
pue Ay W A = 5.0V
ﬂ/ ?, continued on page 4...
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A16. Consider a point charge +Q. Imagine a spherical surface surrounding (and centred on) the point
charge. The total electric flux through the surface is 400 N-m%/C. If the radius of the spherical
surface is now doubled, the total electric flux through this new surface is @ e 2 Q 1nside

(A) 100N-m*”/C  (B) 200 N-m*C (C)400 N-m*C (D) 800 N-m*C (E) 1600 N-m*/C &3

Al7. A metal wire of resistance R is cut into three equal pieces that are then placed side by side to
form a new cable with a length equal to one-third the original length. What is the resistance of 0

this new cable? R-= ﬁ.A-
@) iR B) iR (C) R (D) 3R (E) 9R
9 3
Roow=  PLY2)

A18. Car batteries are often rated in ampere-hours. To what physical quantity does this rating 3A

correspond? Rn L p Y}

(A) current (B) power (C) energy ew ™ 9 "A

@ charge (E) emf Chomge | +Hme = cJ"ije

Fme

A19. Consider a battery with an emf of £and internal resistance of . The battery is initially connected
to a resistor circuit that has an equivalent resistance of R. If the equivalent resistance of the
resistor circuit increases, what happens to the terminal voltage and the current drawn from the €
battery? A=

I =

) 7 r+R
(A) The current decreases and the terminal voltage also decreases. ¢ 4

(B) The current decreases and the terminal voltage increases. R

V)
(C) The current decreases and the terminal voltage does not change. £ T
(D) The current increases and the terminal voltage decreases. ‘[___‘L-‘ \IT d S -Ir
(E) The current increases and the terminal voltage also increases.

A20. Three resistors, each of different value, are used in a circuit with a power source supplying 12 V.
For which of the following resistor combinations is the total power supplied by the source the

reatest?

c o g% R.. s smallest
(A) all three resistors in series P=-g1T- & 4
(B) all three resistors in parallel Req for  pocolied

(C) two of the resistors in parallel with the third resistor in series with the parallel pair
(D) two of the resistors in series with the third resistor in parallel with the series pair
(E) This cannot be found until it is known which resistor is in series with the parallel pair.

A21. A proton is released such that its initial velocity is from right to left across this page. The
proton’s path, however, is deflected in a direction toward the bottom edge of the page due to the
presence of a uniform magnetic field. What is the direction of this field?

(A) from bottom edge to top edge of the page - FY RHE
(B) from right to left across the page U ® Gy )
(C) from left to right across the page Jr‘ = g 1o
into the page F . B ismn
(E) out of the page ) he page

A22. In aregion of space where there is a uniform magnetic field which is directed vertically upward a
horizontal wire carries a current toward the West. In which direction is the magnetic force on the

wire? @—B\
@ North (B) South (C) East (D) West (E) ng_n_u___:::

I
A23. The work function for a particular material is ¢. Therefore, for photoelectrons to be emitted from
the surface of this material,

(A) the wavelength of the incident light must be less than hl
c
the frequency of the incident light must be greater than % I<Ema~,c: W - ¢
. . he _ - ¢
(C) the wavelength of the incident light must be greater the ? L\-(zm = ¢ = {ZM = —l:
(D) the frequency of the incident light must be less than ﬁ he _ ¢ h
e C

)\noan = >\moo<: ¢

(E) the wavelength of the incident light must be less than % .

continued on page 5...
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A24, Inthe Compton effect, a photon of wavelength Ay and frequency f; scatters off an electron that is
initially at rest. Which one of the following statements is correct? A= N = «'\h—c (1= e s9)

(A) The electron gains energy from the photon and therefore the scattered photon’s :’vavelength
is less than Ay.

The photon loses some of its energy and therefore the scattered photon’s wavelength is
greater than A.

(C) The photon’s momentum is decreased and therefore the scattered photon’s frequency is
greater fp.

(D) The photon is absorbed and therefore the electron acquires the energy and momentum of
the photon.

(E) The phg&gp gains energy from the electron and therefore the scattered photon’s frequency
is greaterl\ Jo.

A2S. Using the Bohr model, compare the energy levels of singly-ionized helium to the energy levels
of hydrogen. A helium nucleus has a charge of +2e. Let E, z. represent the energy levels of
helium and let E, 5 represent the energy levels of hydrogen.

(A) En,He =Y En.H (B) En,He = X/Z En,H (C) EH.HL’ = EH.H
D) Evne=2E,n @ Ente=4E,y
z
E,.* (13.tev)?
- k3
PART B "

ANSWER FIVE OF THE PART B QUESTIONS ON THE FOLLOWING PAGES AND INDICATE YOUR CHOICES
ON THE COVER PAGE.

FOR EACH OF YOUR CHOSEN PART B QUESTIONS ON THE FOLLOWING PAGES, GIVE THE COMPLETE
SOLUTION AND ENTER THE FINAL ANSWERS IN THE BOXES PROVIDED.

THE ANSWERS MUST CONTAIN THREE SIGNIFICANT FIGURES AND THE UNITS MUST BE GIVEN.
SHow AND EXPLAIN YOUR WORK — NO CREDIT WILL BE GIVEN FOR ANSWERS ONLY.
EQUATIONS NOT PROVIDED ON THE FORMULAE SHEET MUST BE DERIVED.

USE THE BACK OF THE PREVIOUS PAGE FOR YOUR ROUGH WORK.

continued on page 6...
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Bl. An airplane with a package attached to it is flying at a speed of 97.5 m/s at an angle of 50.0° above
the horizontal. (The airplane is climbing, gaining altitude.) The ground below the plane is
horizontal. When the height of the plane and package above the ground is 732 m, the package is
released. You may ignore any effects due to air resistance.

(a) Calculate the time from its release until the package hits the ground. (4 marks)

G/ e x | 9 2205
o Bx= Xpoaw | By == F32m
A\, 1 \‘ G, eas |G, -yU-sind, = (‘IZSM/S)(St'n $0.0%)
#.—-Xno.x — oy 0 N ;Z[f . ;
0 B¢ Uy = Vg UF‘/ =7 U;y - 0 I LIY/AS
i dx = o ay=-9 ALT. METHOD T

e = GZ + Zay By
by= gt + s La,t* & 7

Z
o~ g.80m/s
= 73 = G435 )t = 420 m/se)t’- % = —[(7‘/:674/9 +jé (-/%zmj
! Up =141, 2w /s

@90 mjs )t (7# am/Dt - 732,.,, = \ 2

AS) i T 5——*”"’ 22.0s

— b £ Jbi-liac J k- uac' 74,605 £ J(7‘/~6°7"~/5)2-4(4.90-«/?)(—731:“) o
f ) 2(‘/.90 M/SL)

i:@s — 6.78s .

(b) Calculate the distance along the ground, measured from directly below the point at which the
package was released, to where the package hits the ground. If you did not obtain an answer

for (a), use a value 0f 20.0 s. (3 marks)

D= Ut .38 % 163m
xmoat G (%%3803'6
Iw\a,( = (97-5«\/3)(&5 50.0°)(22\0:) = (),38x logm

ALT. VALUE © |, 25 % 10

(c) Relative to the ground, calculate the angle of the velocity vector of the package just before it
hits the ground. (3 marks)

> bedow
U—F'XL 7 - 416-' 'r\or\ Em:"al
_)QF U Fom®, = f‘_/
e '?Y Vx

24 2oy by _[F831s) v 2( <100 w1y
(S‘: = H\\ﬂ’am .y "/r U"cosS (,732'“)]
(?'25 m}:X Cos 50,0°)

8{3: 66"‘.&'91,0\»1 kwle@ )
continued on page 7...
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B2. Two blocks of masses m; and my moving in opposite directions with the same speed vy approach
each other on a horizontal frictionless table and have a head-on elastic collision. As a result of the
collision, m; stops and m, moves opposite to its original direction with a constant speed v.

(a) Calculate the mimerical value of the ratio of the two masses, m,/m,. (5 marks)

g " Y}'" e d—zi w0 3
EFORE O—0 2
Uze ?1:

e Q% F g g i_é(mf—zm.mzi»mf)%a
Momendim s conserved ) z
MIU’;[ s M;U:z;’ MI(FI{I"‘ ’“zﬁ}_p mz“‘u*% = mi- 2“‘:"‘1*’%
m, U, — M\, = MU M, = My - 2em,
U’:(‘V\_,:T_,_>U_o M, = M = 20,

ml
Elashc => KE s conserved * 3“‘), = M,y

K€y, = ey,

Z 2 - 2
ﬁmc"fa + émz% = Ln,u

z2M.
2
"‘lU;Z"' "‘1“22: = m"mz>u:»]
z

M

(b) Calculate the numerical value of the ratio of the speeds v/vy. (5 marks)

From momendom C,oﬂs-erva’b‘m, Z
J = ml-mz>%
My
N Mm,-m,
O - : amd K’m(_a)' M, = 3m,
[4]

2

S5

_ 3m2-m2 20\1 @
M2 M,

continued on page 8...
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B3. A rotating space station consists of two living chambers, A and B, which have the radii
ra=1.10x 10’ m and rs=3.20 x 10> m. As the space station rotates, in a time interval ¢ an
astronaut in chamber A is moved 2.40 x 10> m along a circular arc.

(@ Calculate how far along a circular arc an astronaut in chamber B is moved during the same
time interval t. (3 marks)

both astranants move ‘H\rovjk the
Semg anak,e-

69.8m

r Feom the defn of codiam amgle measure :
A
SA 0= _S_@ - Eé
'] Se } re (‘A
g 2 2
e Sg * SA(_3_>: (2.40xl0m 3.20x 10 M>
“a ].10x 10°m

SB = 69 ng ™m
(b)  The space station has a mass of 5.85 x 10° kg and 1s 1n a circular orbit 4.10 x 10° m above

the surface of a planet. The period of the orbit is 2.00 hours and the radius of the planet is
4.15 x 10° m. Calculate the mass of the planet. (7 marks)

_ : 4
) or‘:kius c= RP+"‘ . 08 x loz kﬂ

//
l/ ‘\ c= 4.)6x10% + 4.10%10%m = 4,55 %10%m
\\ AW"\/ New“‘L’“TL— 'ﬁu\’ Cireolar Mohom

AN
r o\
|
/
/
h / - -
- {Fr = Ma,
o
Mg

- 2
F;j Yav - %&;;_-

M g

2 . 2Auwce
5V o Mps —— whee U7 T
rz b4
2
2

-

Mer T (M) | Ar® 4t (4 sxiote).
: T (Roohx 3@(:\_95)2(6,47xm"'u-m"/u§)

continued on page 9...
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B4. Between two horizontal parallel plates is a uniform electric field which points downward and has
a magnitude E = 88.0 x 10° N/C. Between the plates is a small ball with mass m =3.50 x 10 kg
and charge g. The ball is motionless between the plates.

—

(a) What must be the 81gn of the charge ¢? Write te your choice of Positive or Negative in the box.

(1 mark) W I F 1s 4 F
el 9ppes! av 8
. Ne.gabv-e

Fe? °W°"‘k + E omd since ﬁeﬁ E

3
(b) Calculate the magmtude of the chargeq ¢ marks) ?‘ LR TS
F moboless => fF o -
+4 o ° 3.90x10 IOC
. fg~mg =0
mq
chE = Mg

. M3 (38.50x1¢ L) 9. P0w/s') _
,7’, E 38.0x 10°N/c

(c) If the separation between the plates is d = 10.5 mm, calculate the magnitude of the potential
difference between the plates that is necessary to create the electric field. (3 marks)

N = —Ey Ax 924V

lavi= E-d
|AV] = (88.0 x1*N)(10.S e x 1 e

)00 O men
(N = 924v)

(d) If the bottom plate is grounded and considered to be at zero potential, is the potential of the
top plate positive or negative? Write your choice of Positive or Negative in the box.
(1 mark)

g Pm'n*'s ‘" the irm of dweas:'nj
potendhal.

Positive

continued on page 10...
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BS. Consider three resistors, connected as shown:

12007 R

+16.0V ME Ize. I-"D"’
ali '

b

Ly ':WIZ 4.000\\2 hl

6.00 2= R, 3

(a) For the resistors connected as shown above, calculate the equivalent resistance between points
aand b. (4 marks)

R( amd ﬁz are  n {)Naaael, K.OO-R.

Ry (Rl. ¥ EL:SI - (u:%&’a + e'.la'os' S GO

Re‘inz Is In Seneg wr"‘\ Rg

Rz Reg, + Ry foon+ Hoon=

(b) If an ideal source with an emf of 16.0 V is connected across points a and b, calculate the
current in each of the resistors. If you did not obtain an answer for (a), use a value of 11.0 Q.

(6 marks)
—ma 4‘0"7'.,4 C.Uand" H 4.00 Q resistor: 2.00 A
I = -E—- = '_6;2)-/ - 6.00 Q resistor: L 33A
B RL T gooq
12.0 Q resistor:
This s Hhe eorent in Ks' ® 0.667 A

The voltzge drop across Ry s BN,= TR = (Q.OOAXZI,oo_a.)

AVB = 8\00\/

‘Tt\e VoH"a-sz f’ﬂ'P oLross K' omd  oacrese ﬁz S
A= A, = €-M, 2 fhov-Rav = 8OOV

. AV :
I, = e aﬁ)_\/ = (0.7 A
R, ]2.08
= ANV §.o00NV _
Iz —R‘z S

{.00 0L
continued on page 11...
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B6. An alpha particle, which has a charge +2¢ and mass 6.64 x 1077 kg, is accelerated from rest
through a potential difference of magnitude AV = 5.00 x 10° V. After passing out of the
accelerating potential the alpha particle has speed v. It then passes into a region which has a
uniform magnetic field directed downward (into the page in the diagram).

(a) Calculate the speed of the alpha particle, v, as it enters the region of the magnetic field.
(4 marks)

Eﬂergy is conserved as the o pochcle
fnoves ‘H\rougl\ He accdero:hha POMJ\A,Q

6.95 X IOAM/s

D-PEdF+PEd£: e Up = (4.95%10"m)
£ : *

é—mu*z = — DPEy
1
2

g
Z _ -
mU} = 16\[

. 2(—1)(1-\\‘3 2(= 2(+1.602x 16 ) Y= 5.00 %105V
m 6.64 x '0—271(_?

+5

(b) Sketch, on the diagram above, the path of the alpha particle in the region of magnetic field.
(2 marks)
UpWorch  wrNing arcewler arc , aF most a sewu-circle.

(c) Calculate the magnitude of the magnetic field needed so that the radius of the alpha particle’s
trajectory is 15.0 cm. (If you did not get an answer for (a), use a speed of 5.00 x 10° m/s.)
(4 marks)

- N .
Since - 1B ) uoifoeen creolar motran
<€ = ma

Ta’-ﬂ sm90° = mu»*";> e-= oy

0.960T

C qlf

B = (644 xlo-yhﬁXé,ﬁSx'O"m/S) -
2(1.602x167"%Y 0. 150 ) :

END OF EXAMINATION



